Unit 6 Quiz 1: Industrial Revolution and Reform Movements
Matching
a. Samuel Slater


d. Rural
b. Southern States


e. Urban

c. Northern States


ab. Eli Whitney
1. People began moving in mass numbers to this part of the state, otherwise known as ‘the city’, to work in factories.

2. The economy in this part of the U.S. was based off of agriculture.

3. In the mid-1800s, most of America’s industry was located in the… 

4. This man stole the idea of the spinning jenny and other factory machines from Britain and brought them to the U.S.

5. This man invented interchangeable parts. 

Multiple Choice
6. The Industrial Revolution made many advancements in the way cloth was made, otherwise known as…


a. jenny
b. textiles
c. streams
d. rugs

7. Which of the following was NOT an advancement for the industry mentioned above?


a. Water frame

b. sewing machines
c. factories
d. cottage shops
 8. What was life like for those working in the mills?

a. filled with benefits, breaks, and good pay!

b. Filled with dust, poor circulation of air, and little pay

c. Filled with dangerous machines, children, and women

d. All of the above are correct

e. Only B and C are correct

9. What are two new forms of transportation during the Industrial Revolution?


a. Railroad and Automobile


b. Steamboats and the Titanic


c. Railroads and Steamboats


d. Clipper ships and Sailboats

10. What invention made communication much faster during the Industrial Revolution?

a. telephone

b. telegraph

c. telekinesis


11. What was the major crop of the South after the Industrial Revolution? 


a. Tobacco
b. Rice

c. Cotton
d. Iron

	Person

	Eli Whitney

	
	

	Invention

	Cotton gin

	
	

	Result

	


12. Which of the following best completes the chart above?


a.
Cotton became king of the crops in the South and slavery increased.

b.
Use of slavery diminished as workers were replaced with machines.


c.
Textile mills were built in the South.


d.
Cotton cloth became more expensive.

13. Which European countries did most immigrants originate from?

a. Ireland and Germany

b. Ireland and Sweden


b. Germany and France

d. Germany and England

14. Where did most immigrants move?


a. the North

b. the South

15. Why did many people dislike these new immigrants?

a. they were moving west before the American citizens had a chance

b. they were taking their jobs in the factories

c. they forced people to move west just like the Native Americans

16. Where did most immigrants live?


a. Tenements in horrible conditions



b. Dorms in wonderful conditions


c. Out of town in a farm house


17. Why were more textile mills built in the North than in the South?

a. The South charged higher taxes on industry.


b. The North had more rivers to provide power.


c. The North attracted skilled English immigrants.


d. The South was not interested in expanding agriculture.

18. What was a union?
a. organization of workers who tried to improve pay and working conditions for members

b. collection of workers who appealed to the courts and police for assistance against employers

c. group of workers who arrived from poor countries and were willing to work for low pay.

d. alliance of workers who wanted to prevent their employers from competing with other manufacturers.

19. How did technological developments during the Industrial Revolution enable people to build factories almost anywhere?

a. Trains could bring raw materials to and ship finished goods from virtually any area worth living in.

b. The shift to steam power meant factories no longer had to be built near streams, rivers, or waterfalls.

c. Trains and steamboats spread the population out so that any factory had a ready supply of workers.

d. The invention of the telegraph put factory managers and their city-based investors within easy reach. 

20. The “Rhode Island system” was Samuel Slater’s strategy of


a. hiring families of workers and dividing factory work into simple tasks


b. paying workers in company-store credit and reinvesting cash in the business


c. building houses for workers in exchange for the promise of company loyalty


d. hiring unmarried women and designing new factory equipment

21. Why were changes to manufacturing needed in the mid-1700s? 
a. Factory owners were not satisfied with their profits and had available supply of workers from Europe
b. Populations were growing and demand was greater than the available supply of goods


c. Workers were not satisfied with the level of their daily wages


d. Traders faced higher shipping prices for smaller amounts of goods 

22. Why were factories slower to develop in the United States than in Britain?
a. Urban areas were too overcrowded to attract American workers from rural areas

b. People would rather own their own land than work in factories

c. British factory workers were willing to work for less pay because they could never own their own land


d. All of the Above


e. Only B and C
23. Which job would many children work during this time period?

a. Coal Mines

b. Factory Work 


c. Seafood work
d. Newsies

e. All of the above

24. Why did factories prefer to hire women and children?


a. Factories could pay women and children less 


b. Women and children were better workers

c. Immigrants were mainly women and children so there really was no other option

25. According to the chart, the rate of U.S. cotton production increased most rapidly between …


a. 1780 – 1800 


b. 1800 – 1820

c. 1820 – 1840 


d. 1840 – 1850 
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